PN VNE]
BEM AR BHFETKE
E 4% KI5 . BAMKEwRKS

B B HAE 48 58 6H 78 8H 9/ 108 118 128 18 2R 38
- (°c) 16.1 15.1 20.6 32.3 238 21.0 20.4 13.6 8.7 11.0 4.1 6.5
KR () 15.4 185 20.5 24.1 24.3 23.0 21.9 18.0 15.6 12.8 1.6 14.2
RRBIEHR (mg/L) 0.5 0.4 0.4 0.3 0.3 0.3 0.3 0.4 0.4 0.4 0.3 0.4
i |—EHEE 100fE/mLEL T 0 0 0 0 0 0 0 0 0 0 0 0
#2 | KR BHINGWNIE =33 =33 =3k =3k =3k =33 =3k =3k =33 =33 =33 =3k
H3 [AFEVLRUZDIEEY 0.003mg/LELT - <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 —
4 [KEBERUVZOILEY 0.0005mg/LLL T — <0.00005 — — <0.00005 — — <0.00005 — — <0.00005 —
5 [LLURUZDIEEY 0.01mg/LIATF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
e [SRRUZDILED 0.01mg/LLLTF - <0.001 - — <0.001 — — <0.001 — — <0.001 —
£ |ERRUZDLLED 0.01mg/LIATF — 0.005 — — 0.005 — — 0.005 = = 0.005 =
#Hg |AfivOLEEY 0.05mg/LIATF — <0.005 — — <0.005 — — <0.005 — — <0.005 —
Ho |HEHEBEER 0.04mg/LELTF = <0.004 = - <0.004 = - <0.004 — — <0.004 —
B0 | T A U RUERS T 0.01mg/LLLTF — <0.001 — — <0.001 — — <0.001 = - <0.001 -
Hi1 |HREERRUEHBEER 10mg/LIATF = <0.1 = - <0.1 = - <0.1 — — <0.1 —
12 |7VRRUZDILEY 0.8mg/LELT — <0.05 — — <0.05 — — <0.05 — — <0.05 —
H13 [RVRRUVZDILEY 1.0mg/LELT - 0.2 — — 0.2 — — 0.2 = = 0.2 —
H14 (EEERER 0.002mg/LEL T — <0.0002 - - <0.0002 - - <0.0002 — — <0.0002 -
15 [14-SAFH> 0.05mg/LEATF — <0.005 — — <0.005 — — <0.005 — - <0.005 —
16 :;;2_21_2’_7/']5;;1’;50 0.04mg/LILT - <0.002 - - <0.002 - - <0.002 - - <0.002 -
17 [Crnorey 0.02mg/LLLF - <0.001 — — <0.001 - — <0.001 — - <0.001 —
18 [ThIYAOIFLY 0.01mg/LLLF - <0.001 — — <0.001 - — <0.001 — - <0.001 —
19 [M)yOOIFLY 0.01mg/LIAT - <0.001 — — <0.001 - — <0.001 — - <0.001 —
o0 (RoEY 0.01mg/LIAT - <0.001 — — <0.001 - — <0.001 — - <0.001 —
Ho1 |IEHRE 0.6mg/LELT - <0.06 — — 0.43 — — 0.16 - - 0.13 =
#H22 |VOOEER 0.02mg/LLLF - <0.002 — — <0.002 — - <0.002 - — <0.002 —
#23 [yBAKRILL 0.06mg/LIAT - <0.001 — — <0.001 — - <0.001 - — <0.001 —
Ho4 |DUDOFEFE 0.03mg/LIATF — <0.002 — — <0.002 — — <0.002 — — <0.002 —
Hos |[CTnES/OOARY 0.1mg/LELTF - 0.005 - - 0.005 — — 0.005 — — 0.004 —
oo [RHREE 0.01mg/LAT - <0.001 — = <0.001 = = <0.001 = - <0.001 =
£27 [fakUnOALY 0.1mg/LELF = 0.017 = = 0.016 — — 0.016 — — 0.015 —
Hog |M)UOOEER 0.03mg/LIATF — <0.002 — — <0.002 — — <0.002 — — <0.002 —
29 [JOESH/OOAZY 0.03mg/LLLF = 0.002 - = 0.002 — — 0.002 — — 0.002 —
#30 [FTRERILL 0.09mg/LELF = 0.010 = = 0.009 — — 0.009 — — 0.009 —
31 [RILLATILTER 0.08mg/LELF — <0.008 — — <0.008 — — <0.008 — — <0.008 —
H32 |ESRRUZDIEED 1.0mg/LLLT - <0.01 - - <0.01 - - <0.01 — - <0.01 —
H33 |[FILE=ZVLRUVZDIEEY 0.2mg/LUTF - <0.02 — - <0.02 — — <0.02 — — <0.02 —
H34 (HRUVZDIEED 0.3mg/LULTF — <0.03 — — <0.03 — — <0.03 — — <0.03 —
£#35 |TARVZDILEY 1.0mg/LELTF — <0.01 — — <0.01 — — <0.01 — — <0.01 —
36 [FRIVLRUZDILEY 200mg/LELTF - 49 — — 48 — — 49 - = 50 -
37 [RUHVRUZDIEEY 0.05mg/LIATF — <0.005 — — <0.005 — — <0.005 — — <0.005 —
238 &4 200mg/LELTF 405 40.7 39.5 404 408 404 405 39.5 39.8 402 39.6 40.1
39 (Vb 4V LE (FEE) 300mg/LLATF - 75 - — 73 - = 75 — — 76 —
Ha0 |REZEEY 500mg/LLLTF - 253 = - 264 = = 245 — — 230 —
Hat (BAAVREFEH 0.2mg/LUTF - <0.02 — = <0.02 - = <0.02 = — <0.02 —
Ha42 [PxARIY 0.00001mg/LLTF — — <0.000001 <0.000001 <0.000001 <0.000001 — — — — — —
HA43 (2-AFNAYK WRE-N 0.00001mg/LLLTF — — <0.000001 <0.000001 <0.000001 <0.000001 — — — — — —
Haa (A4 REFHEH 0.02mg/LULTF — <0.005 — — <0.005 - - <0.005 - = <0.005 -
Ha5 (Jx/— LR 0.005mg/LIATF - <0.0005 — - <0.0005 — - <0.0005 — — <0.0005 —
Hae |HHEM (2HRRRTOC)DE) 3mg/LLLTF 0.2 <0.2 <0.2 <0.2 0.2 <0.2 <0.2 0.2 <0.2 <0.2 0.2 0.2
#47 |pH{E 5851 E8.6LLT 8.1 8.1 8.1 8.1 8.1 8.1 8.1 8.0 8.0 8.1 8.0 8.1
a8 | BEETLHNIL BETEAL| BETEAV| BETEAV| BETEAV| BRcran| Bgcaan| Bxcaan| Bxcaan| Bxcran| BRcran] BRcran] BERcddan
Ha9 [BR BETHINIE BETEAL| BETEAV| BETEAV| BETEA0| BEcran| Bcaan| B Bxcaan| Bxcran| BRcran] BRcran] BERcddan
Hs50 |BE S5ELT <05 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05
51 | BE 2ELT <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
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